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(mm) (mm) () (@D)
s40 | 9710 11 23 176 895
s42 7/3 4 150 374 446
6 7 287 11,619
sa47 | e/6 7/23 o oot 515 17 9 67249
14 16 143
S49 | 8/17 9/10 18 o> 9 4 27,562
146ha
S51 | 9/7 14 17 368 38 33 , 38 270437
55 | 5/17 5/22 156 21 4 29 66,799
S58 | 9/24 9/30 10 168 16 1 14 16,110
S60 | 5/27 7/24 95 36 1 14 17,894
6 (7711 12)
s62 | 10/15 18 19 130 16 2 10 16,961
H2 | 9718 19 19 298 18 69 16
H6 | 9/28 9/29 26 148 165 5 3
Ho | 7/11 7/12 145 175 3 5
Ho 7/17 149 27 18 56
H10 9/24 174 26 9 10
H10 10/18 10 120 285 4 12
H12 1172 138 11 7 24,082
H16 | 9/29 30 21 151 29 5 43
H16 | 10/19 21 23 244 205 41 25
H18 | 7/18 7/19 197 18 11 24 28,000
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